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Example: 9x? -4 = (3x+ 2) B3x~-2)

1. 4x*-1=

(3 36x2-9= q(4Z-1 )

AU

5. 25x*-4=

Lo

2. x?-9=
4. 100x? -81=
6. 81x*-121=

x+1) =13 [16@x=1Ex=1)| x-4) x+4) 6bx+5)(6x=5) |(25-4X)(25+4x)| (x+1)Kx-1)
THE SUM OFA PRO QUO DUC

O+00-% [9@x-@x+1)| X+D&=7 | @+Dx=1) | Ox+DO-1) | K+ x-2)
TOF TIE THE NTA SUM AND

(10-00+% | Gx+3)Gx-3) | (x-5x+5) | Gx+N)@x-1) |[Ax=DAlx+D| k-6 (+6)
WAS DIF HAS FER MAN NER

x+18) (x=18) |(10x—=9) (10x+9 | x-3) (x+3) 6Gx-2)6x+2) |x+1)Fx-11)| x+8)(x—8)
ENC THA TIS MYP EOF THE

x+19) =19 [Ex=1D) Ox+11)| X+ X-9) Bx+2)@Bx-2) | Ux=-8)(x+4) X+DX-9
SQU ROB ARE ROO LEM S.

15. The factored form of the difference of the two squares is
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7. x*-16= 8. 144x*-16=
9. x*-25= 10. 625-16x% =
. 100-x% = 12. x2-36=
13. 121x2—49=<”X+7>@K‘75 14, 49x2 - 16 =
2 2
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Class Brainstorm

List of all of the families of functions that

you have learned about go far in your study
of Algebra

braingtorm lines
par abolos 7‘4 parabolag

o il hyperbolas
;b‘ VL\,Z cubics
CnbDi
\D square root
Az olute value \7& exponentials  _ :F
Square (ol 2 absolute value

-
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Function Familiarity
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let's go back and look at the

Significance of

(h.k)

y= ~Ge-T)at (Parabola

h. A P
- 3 | C_/b Lo the \i) =X °

- . 2

I A
pRRR=R IRRE: Y=o (W) +k
o » O ' ! The locator point ( h, k)
SEEET “::] is at the vertex of a

IS FARTEN Qarabola
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4 .
Cubic
4= x

_ lj: a (x-h) *K/

N i ’ ] The locator point ( h, k)
A il is at the_inflection point.

(ia) boheoce (" Hyperbola

5" X+

i il
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(o,2) wewyime 7~ Exponential )
X
b W=1
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T The locator point ( h, k)
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Two Tough Problems
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2—107-109, 110a, 111, 113, 119

The Chap&er 2 best is F‘rid&v
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